Punjab National Bank Agriculture Officers Exam., 2008

Reasoning : Solved Paper

(Held on 4-5-2008)

• 1. Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to the group ?

(A) Sand

(B) Stone

(C) Cement

(D) Brick

(E) Wall

Ans : (E)

2. If Yellow is called Green, Green is called Black, Black is called White, White is called Red, Red is called Blue, Blue is called Orange then what is the colour of milk ?

(A) White

(B) Black

(C) Red

(D) Green

(E) None of these

Ans : (C)

3. Pointing to a photograph Seema said ‘He is the only grandson of my mother’s father-in-law’.

How is the man in photograph related to Seema ?

(A) Father

(B) Uncle

(C) Cousin

(D) Brother

(E) Cannot be determined

Ans : (D)

4. If ‘+’ means ‘×’, ‘×’ means ‘÷’, ‘÷’ means ‘–’ and ‘–’ means ‘+’ what is the value of—

17 + 15 – 135 × 9 ÷ 70 ?

(A) 270

(B) 240

(C) 170

(D) 200

(E) None of these

Ans : (D)

5. If it is possible to make a meaningful word from the fourth, the fifth, the sixth, the eighth and

the eleventh letters of the word GOURMANDISE using each letter only once first letter of the word is your answer. If more than one such word can be formed your answer is X. If no such word can be formed your answer is Y—

(A) D

(B) R

(C) M

(D) X

(E) Y

Ans : (D)

6. Four of the following five are alike in a certain way and so form a group. Which is the one

that does not belong to the group ?

(A) Silver

(B) Gold

(C) Nickel

(D) Copper

(E) Brass

Ans : (E)

7. In a certain code EXTRA is written as % 5 # 73 and NOSE is written as 4 @ 8%; how is STORE written in that code ?

(A) 5#@7%

(B) 8#@7%

(C) 8#@%5

(D) 8@75%

(E) None of these

Ans : (B)

8. In a row of children facing North, Shamika is third to the right of Nikhil who is seventeenth from the right end of the row. Ravi is fifth to the left of Shamika and is twentieth from the left end. Total how many children are there in the row ?

(A) 39

(B) 38

(C) 37

(D) Cannot be determined

(E) None of these

Ans : (B)

9. How many such pairs of letters are there in the word EXAMINATION each of which has as many letters between them in the word, as they have in the English alphabet ?

(A) None

(B) One

(C) Two

(D) Three

(E) None of these

Ans : (C)

10. In a certain code ACQUIRE is written as EIRUQAC, how is DENSITY written in that code ?

(A) YTISNDE

(B) YITSNED

(C) YTISNED

(D) YITSNDE

(E) None of these

Ans : (D)

Directions—(Q. 11–15) These questions are based on the following letter/number/ symbol arrangement. Study it carefully and answer the questions.

T 8 # 1 7 F J 5 % E R @ 4 D A 2 B © Q K 3 1 ● U H 6 L

11. How many such symbols are there in the above arrangement, each of which is immediately

preceded by a consonant and not immediately followed by a vowel ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (C)

12. Four of the following five are alike in a certain way on the basis of their positions in the above arrangement and so form a group. Which is the one that does not belong to the group ?

(A) E@%

(B) #78

(C) 5EJ

(D) U6●

(E) QKB

Ans : (E)

13. How many such vowels are there in the above arrangement each of which is immediately preceded by a symbol and immediately followed by a number ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

Ans : (B)

14. What will come in place of the question-mark (?) in the following series based on the above

arrangement ?

TL8 #6I 7HF ?

(A) FUJ

(B) JU●

(C) FU●

(D) JU5

(E) None of these

Ans : (D)

15. Which of the following is seventh to the right of thirteenth from the right ?

(A) 1

(B) ●

(C) F

(D) 7

(E) None of these

Ans : (A)

Directions—(Q. 16–20) In each question below are given three statements followed by two

conclus ions numbered I and II. You have to take the three given statements to be true even if

they seem to be at variance from commonly known facts and then decide which of the given

conclusions logically follows from the three given statements, disregarding commonly known

facts. Then decide which of the answer (A), (B), (C), (D) and (E) is correct answer and indicate

it on the answersheet. Give answer—

(A) If only conclusion I follows

(B) If only conclusion II follows

(C) If either conclusion I or conclusion II follows

(D) If neither conclusion I nor conclusion II follows

(E) If both conclusions I and II follow

Ans : ©

16. Statements :

Some cards are plastics.

Some Plastics are metals.

All metals are pots.

Conclusions :

I. Some pots are cards.

II. No pot is a card.

Ans : (C)

17. Statements :

All chairs are tables.

All tables are trains.

All trains are buses.

Conclusions :

I. All tables are buses.

II. All trains are tables.

Ans : (A)

18. Statements :

Some machines are computers.

Some computers are calculators.

Some calculators are phones.

Conclusions :

I. Some phones are computers.

II. Some computers are machines.

Ans : (B)

19. Statements :

All spoons are bowls.

Some bowls are glasses.

Some glasses are plates.

Conclusions :

I. Some glasses are spoons.

II. Some plates are bowls.

Ans : (D)

20. Statements :

Some envelopes are packets.

Some packets are boxes.

All boxes are parcels.

Conclusions :

I. Some parcels are packets.

II. Some parcels are boxes.

Ans : (E)

Directions—(Q. 21–25) Each of the questions below consists of a question and two statements

numbered I and II are given below it. You have to decide whether the data provided in the

statements are sufficient to answer the question.

Read both the statements and give answer—

(A) If the data in Statement I alone are sufficient to answer the question, while the data in

Statement II alone are not sufficient to answer the question

(B) If the data in Statement II alone are sufficient to answer the question, while the data in

Statement I alone are not sufficient to answer the question

(C) If the data either in Statement I alone or in Statement II alone are sufficient to answer the

question

(D) If the data in both the Statements I and II are not sufficient to answer the question (E) If the

data in both the Statements I and II together are necessary to answer the question

21. Among D, B, J, T and F who was the first person to reach the office ?

I. D reached before J and F but after B.

II. B was not the first to reach office.

Ans : (E)

22. What is the code for ‘not’ in the code language ?

I. In the code language ‘do not go’ is written as ‘la ra de’.

II. In the code language ‘go to school’ is written as ‘ka ma ra.’

Ans : (D)

23. How many children are there in the class ?

I. Rita ranks 23rd from the top.

II. Anita ranks 17th from the bottom and is five ranks above Rita.

Ans : (E)

24. How is Neela related to Deepa ?

I. Neela’s mother is Deepa’s brother’s wife.

II. Neela is the only granddaughter of Deepa’s mother.

Ans : (C)

25. R is in which direction with respect to T ?

I. R is to the east of H who is to the north of T.

II. Q is to the east of T and to the South of R

Ans : (C)

Directions—(Q. 26–30) These questions are based on the following arrangements I & II. Study

them carefully and answer the questions that follow—

I. P T 7 A # 4 B C 3 @ K F 1 9 ●

II. E H L © 6 8 $ U 5 J M 2 D% 1

26. How many such symbols are there in arrangements I & II together each of which is

immediately preceded by a consonant and immediately followed by a numeral ?

(A) 3

(B) 4

(C) 5

(D) 1

(E) None of these

Ans : (E)

27. If P7© : TAL : : B3J : ?

(A) @KJ

(B) C@J

(C) C@5

(D) 3KJ

(E) None of these

Ans : (C)

28. Which element will be third to the right of seventh element from right end in the

arrangement I if the order of its elements is reversed ?

(A) 7

(B) #

(C) F

(D) 1

(E) None of these

Ans : (E)

29. What will come in place of the question mark (?) in the following series based on the

position of the elements in the above two arrangements ?

H7 ©# 8B ?

(A) U3

(B) $C

(C) 3J

(D) UC

(E) None of these

Ans : (A)

30. If the third, the fifth, the seventh and the ninth elements in arrangement II are replaced by

the respective elements in arrangement I, which element will be third to the left of sixth element

from the right end in arrangement II ?

(A) $

(B) B

(C) 7

(D) L

(E) None of these

Ans : (B)

Directions—(Q. 31–35) Symbols @, %, ●, $ and # are used with following meanings—

‘A @ B’ means ‘A is smaller than B’.

‘A % B’ means ‘A is greater than B’.

‘A ● B’ means ‘A is neither greater than nor smaller than B’.

‘A $ B’ means ‘A is either smaller than or equal to B.’

‘A # B’ means ‘A is either greater than or equal to B’.

Now in each of the following questions assuming the given statements to be true, find which of

the two conclusions I and II given below them is/are definitely true and give your answer

accordingly. Give answer—

(A) If only conclusion I is true.

(B) If only conclusion II is true.

(C) If either conclusion I or conclusion II is true.

(D) If neither conclusion I nor conclusion II is true.

(E) If both conclusions I and II are true.

31. Statements : G @ H, H ● Q, Q $ M

Conclusions : I. M % G

II. H $ M

Ans : (E)

32. Statements : F ● B, B @ E, E # J

Conclusions : I. F @ E

II. J $ B

Ans : (A)

33. Statements : R $ H, H % M, M # F

Conclusions : I. F $ H

II. F @ R

Ans : (D)

34. Statements : T # L, L % W, W @ V

Conclusions : I. L % V

II. T % W

Ans : (B)

35. Statements : K % L, L # T, I $ T

Conclusions : I. L % I

II. L ● I

Ans : (C)

Directions—(Q. 36–40) These questions are based on the following information—

Seven persons R, J, M, Q, L, T and K conduct workshop on Developing Managerial skills in

seven different companies A, B, C, D, E, F and G on a different day of the week from Monday

to Sunday. The order of persons, companies and days of the week are not necessarily the same.

J organizes workshop in Company D on Wednesday. Q does not conduct workshop for

companies A or C and conducts on the next day of L who conducts the workshop for Company

F. T conducts workshop for Company E on Friday. K conducts workshop on Monday but not for

Company C or G. M conducts workshop for Company A but not on Tuesday.

36. Who conducts workshop on Saturday ?

(A) M

(B) Q

(C) L

(D) Q or L

(E) None of these

Ans : (C)

37. On which day does Q conduct the workshop ?

(A) Sunday

(B) Saturday

(C) Tuesday

(D) Cannot be determined

(E) None of these

Ans : (A)

38. M conducts workshop on which day ?

(A) Saturday

(B) Sunday

(C) Tuesday

(D) Thursday

(E) None of these

Ans : (D)

39. Which of the following combinations of person-company and day is correct ?

(A) K–B–Wednesday

(B) R–B–Monday

(C) K–C–Monday

(D) K–G–Sunday

(E) None of these

Ans : (E)

40. Who conducts workshop for Company C and on which day ?

(A) R, Thursday

(B) R, Tuesday

(C) Q, Saturday

(D) Q, Sunday

(E) None of these

Ans : (B)

Directions—(Q. 41–45) Below in each question are given two statements (a) and (b). These

statements may be either independent causes or may be effects of independent causes or a

common cause. One of these statements may be the effect of the other statement. Read both the

statements and decide which of the following answer choice correctly depicts the relationship

between these two statements. Mark answer—

(A) If statement (a) is the cause and statement (b) is its effect

(B) If statement (b) is the cause and statement (a) is its effect

(C) If both the statements (a) and (b) are independent causes

(D) If both the statements (a) and (b) are effects of independent causes.

(E) If both the statements (a) and (b) are effects of some common cause

41. (a) Government of state ‘X’ imposed a higher sales tax on petroleum products compared to

the neighbouring states.

(b) All the petrol pumps in the state observed ‘bandh’ in protest.

Ans : (A)

42. (a) Attendance for the All India examination held in July 2006 was poor at all the centres.

(b) Western States of the country were affected by heavy floods during July 2006.

Ans : (D)

43. (a) High Court has declared stay on construction of residential buildings on the land under

dispute.

(b) A large number of middle class salaries people had booked flats in the buildings under

dispute.

Ans : (C)

44. (a) Residents in the locality have now decided to launch a cleanliness drive.

(b) Civic authorities in the city have recorded many cases of Cholera and gastro.

Ans : (B)

45. (a) Senior citizens of the city have complained about the late night disturbance

caused due to loudspeakers used during festivals.

(b) Though, the Government has issued a directive banning late night celebrations

involving use of loudspeakers, it is not being strictly followed in some of the areas.

Ans : (E)

Directions—(Q. 46–50) An organization wants to recruit Manager—HRD for its umbai

division. The following criteria have been laid down, to be eligible for selection. The candidate

must—

(a) Be a graduate in any discipline passed in first class with minimum 60% marks

(b) Have done post graduate degree/diploma in HRD or personnel management with minimum

65% marks

(c) Have cleared the selection test with minimum 50% marks

(d) Have cleared the interview with minimum 45% marks

(e) Be not less than 21 years and not more than 28 years of age as on 1.2.2007.

However, if a candidate satisfies all other criteria except for—

(i) At (b) above but has got-at-least two years post-qualification experience of working in HRD

department case may be referred to the Chairman of the organisation.

(ii) At (c) above but has secured minimum 45% marks in selection test and 55% marks in

interview the case may be referred to the President of the organization.

In each of the questions below, information of one candidate is given. You have to take one of

the following five decisions based on the information provided and the criteria and

conditions given above. You are not to assume anything other than the information provided in

each question. All these cases are given to you as on 1.2.2007. You have to

indicate your decision by marking answers to each question as follows. Give answer—

(A) If the candidate is to be selected

(B) If the candidate is not to be selected

(C) If the case is to be referred to Chairman

(D) If the case is to be referred to President

(E) If the data provided is not adequate to decide the course of action

46. Nalini Zaveri has done her graduation in Arts in first class with 60% marks and postgraduate

management diploma in HRD with 62% marks. Her date of birth is 16.1.1981. She has been

working in the HRD department of a bank for past three years after completing her postgraduation

diploma in HRD. She has secured 55% marks in selection test and 50% marks in

interview.

Ans : (C)

47. Rajesh Nalawade is a B. Sc. In first class with 75% marks and post-graduate in personnel

management with 60% marks. He is working as an Officer in administration department of an

organisation for past two years. He has secured 55% marks in selection test and 52% marks in

interview. He has completed 26 years of age in November 2006.

Ans : (B)

48. Shyam Bansode has passed B. Com. in first class with 65% marks and MBA in personnel

management with 72% marks. He has cleared the selection test with 58% marks and interview

with 52% marks. His date of birth is 17.5.1983.

Ans : (A)

49. Nikhil Agnihotri is a postgraduate in personnel management passed out in 2005 at the

age of 24 years securing 71% marks. He has secured 62% marks in selection test and 57%

marks in interview.

Ans : (E)

50. Sujata Shirke has passed out B. Com. in first class with 62% marks in 2003 at the age of 21

years. Thereafter she has done MBA with specialization in HRD with 72% marks. She has

secured 48% marks in selection test and 58% marks in interview.

Ans : (D)
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Professional Knowledge (Agriculture) : Solved Paper

(Held on 4-1-2009)

1. This ‘Biofertilizer’ is a nitrogen fixing micro-organism, beneficial for non-leguminous as well as for

vegetable crops—

(A) Rhizobium (RHZ)

(B) Azotobacter (AZT)

(C) Azospirillum (AZS)

(D) Blue Green Algae (BGA)

(E) Phosphate Solubilising (PSB) mobilizing bacteria

2. What percentage of total area under Banana cultivation in India presently, is cultivated by using

Tissue-cultured (GMO) plantlets ?

(A) 10 per cent

(B) 15 per cent

(C) 20 per cent

(D) 25 per cent

(E) 30 per cent

3. As per the recent ‘Micro-credit Summit (2007)’, what percentage of total Micro Finance Institutions

(MFls) in India serves less than, 10,000 clients (number of clients per MFI) ?

(A) 70 per cent

(B) 75 per cent

(C) 80 per cent

(D) 85 per cent

(E) 90 per cent

4. Fisheries Sector in India contributes what percentage of Agricultural—‘Gross Domestic Product’

(GDP), as on March 2007 ?

(A) 2·5 per cent

(B) 3·5 per cent

(C) 4·5 per cent

(D) 5·5 per cent

(E) 6·5 per cent

5. This agricultural product/horticultural crop requires 2 degree Celsius temperature and 90 per cent

humidity for storing in the cold storage—

(A) Mango pulp

(B) Roses

(C) Mushroom

(D) Milk Products

(E) Fish Products

6. The plan outlay for Irrigation Sector to total plan outlay in India was highest (12·5 per cent) in this

Five Year Plan (FYP)—

(A) VIth Five Year Plan

(B) VIIth Five Year Plan

(C) VIIIth Five Year Plan

(D) IXth Five Year Plan

(E) Xth Five Year Plan

7. The recommended ratio of use of NPK, the chemical fertilizer by farmers in India is—

(A) 2 : 2 : 2

(B) 3 : 2 : 1

(C) 4 : 2 : 1

(D) 5 : 2 : 1

(E) 6 : 2 : 1

8. This state is a leader in production and export of the Gherkins (Hybrid Cucumber) under the

Contract Farming—

(A) Tamil Nadu

(B) Andhra Pradesh

(C) Karnataka

(D) Kerala

(E) Maharashtra

9. What should be the optimum spacing (in meters) for planting ‘Pusa Nanha’ variety of Papaya under

the High Density Planting ?

(A) 1·25 m × 1·25 m

(B) 1·50 m × 1·50 m

(C) 1·75 m × 1·75 m

(D) 2·00 m × 2·00 m

(E) 2·50 m × 2·50 m

10. Dramatic increase in food prices world over had severe consequences for third world countries

(FAO, 2008). How many countries in the world are now facing food crisis, because of this phenomenon

?

(A) 35 countries

(B) 36 countries

(C) 37 countries

(D) 38 countries

(E) 39 countries

11. How many outbreaks of ‘Avian Influenza (H5N1)’ were recorded in West Bengal and Tripura

during January 2008 and May 2008 ?

(A) 37

(B) 39

(C) 40

(D) 41

(E) 42

12. According to Dr. C. Rangarajan ‘Committee on Financial Inclusion (2007)’, what percentage of

Rural Population in India holds Bank Account ?

(A) 18 per cent

(B) 24 per cent

(C) 31 per cent

(D) 35 per cent

(E) 40 per cent

13. Which one of the following Indian States is the largest beneficiary or gainer of the SGSY–credit

extended by Banks during 2006–07 ?

(A) Tamil Nadu

(B) Bihar

(C) Orissa

(D) Uttar Pradesh

(E) None of these

14. This variety of Tomato is highyielding with good quality fruits and suitable for Jharkhand State for

cultivation—

(A) Swarna Lalima

(B) Swarna Shyamali

(C) Swarna Pratibha

(D) Swarna Shree

(E) Swarna Manohar

15. How many plants/trees of Amrapali variety of mango could be profitably accommodated, when

planted at 5·0 m × 5·0 m (square method) per hectare ?

(A) 1,400 plants

(B) 1,500 plants

(C) 1,600 plants

(D) 1,700 plants

(E) None of these

16. Which one of the following Brinjal hybrid varieties recently released suitable for U.P. Punjab, Bihar

and Jharkhand—

(A) Kashi Sandesh

(B) Swarna Shakti

(C) Kashi Ganesh

(D) HA BH-17

(E) HA BH-3

17. ‘Sweta Seedless’ grape variety recently released by IIHRBangalore, is suitable for growing in—

(A) North India

(B) South India

(C) Western India

(D) Eastern India

(E) All over the country

18. Which one of the following rice/paddy hybrid varieties having superfine grain, aromatic, matured

within 120-125 days and recently released for cultivation in Haryana, Delhi and Uttarakhand ?

(A) PA 6201

(B) Pusa RH 10

(C) KRH2

(D) RH 204

(E) Pant Sankar Dhan 3

19. Rabi Sorghum is an important crop suitable for ‘Rainfed Ecosystem’ of this State—

(A) Maharashtra

(B) Karnataka

(C) Gujarat

(D) Bihar

(E) Tamilnadu

20. This ‘Agro-Ecosystem’ is characterized by low, erratic rainfall with high coefficient of variation

and frequent droughts in India—

(A) Irrigated agro-ecosystem

(B) Arid agro-ecosystem

(C) Coastal agro-ecosystem

(D) Rainfed agro-ecosystem

(E) Hill and Mountain agroecosystem

21. ‘Leaf Rust’ is a serious disease of this crop and till date, there is no effective and ecologically safe

fungicide for controlling this disease—

(A) Sweet Potato

(B) Grape

(C) Rice

(D) Wheat

(E) Sorghum

22. What is botanical (Scientific) name of Safed Musli–a medicinal plant grown almost all over India ?

(A) Chlorophytum borivilianum

(B) Curculigo orchioides

(C) Piper longum

(D) Solanum surattense

(E) None of these

23. Central Institute of Post-Harvest Engineering and Technology is located at—

(A) Abohar (Punjab)

(B) Ludhiana (Punjab)

(C) Bangalore (Karnataka)

(D) Bhopal (Madhya Pradesh)

(E) Hyderabad (Andhra Pradesh)

24. Which one of the following Castor hybrids, you will suggest for getting good yields for rainfed and

irrigated areas of Rajasthan State ?

(A) RHC 1 (VP-1 × TMV5-1)

(B) DCH 6 (JP 65 × JI 96)

(C) DCH 519 (M574 × DCS 78)

(D) DCH 177 (DCP 9 × DCS 9)

(E) None of these

25. Which one of the following ‘mixed cropping’ pattern you would suggest to the farmers for getting

higher economic benefits ?

(A) Bhindi + Spongegourd

(B) Mango + Turmeric

(C) Mango + Colocasia

(D) Mango + Groundnut

(E) Colocasia + Turmeric

26. Which one of the following States has created ‘Organic Commodities Board’ to promote and restore

value of foodcrops, which are mostly grown on marginal lands ?

(A) Kerala

(B) Karnataka

(C) Jharkhand

(D) Madhya Pradesh

(E) Uttarakhand

27. The Central Frozen Semen Production and Training Institute is one of the premier Institute of

Animal Husbandry, is located at (HQ)—

(A) Hessarghatta (Karnataka)

(B) Sunabada (Orissa)

(C) Dhamrod (Gujarat)

(D) Suratgarh (Rajasthan)

(E) Andeshnagar (Uttarakhand)

28. What percentage of total cultivable area in India is under ‘Horticultural Crops’ ?

(A) 10 per cent

(B) 11 per cent

(C) 12 per cent

(D) 13 per cent

(E) 14 per cent

29. ‘National Agricultural Insurance Scheme’ (NAIS) was in operation in India since—

(A) Rabi season 1999–2000

(B) Kharif season 1998–1999

(C) Rabi season 2000–2001

(D) Kharif season 2000–2001

(E) None of these

30. ‘Pusa Arunima’ is an improved hybrid variety of this crop relased by IARI, New Delhi—

(A) Mango

(B) Guava

(C) Grape

(D) Citrus

(E) Pomegranate

31. As on 2007, how many Indian States/Union Territories (UTs) have partially modified their

respective Acts under the ‘Agricultural Marketing Reforms’ ?

(A) 12 States/UTs

(B) 13 States/UTs

(C) 14 States/UTs

(D) 15 States/UTs

(E) 16 States/UTs

32. What is the total ‘Export Earnings’ (Rs. crore) in 2004-05 from livestock, poultry and related

products in India ?

(A) Rs. 2200 crore

(B) Rs. 2250 crore

(C) Rs. 2300 crore

(D) Rs. 2350 crore

(E) Rs. 5150 crore

33. Which one of the following States is leading one (Ranked first) in production of ‘Cut Flowers’ in

India ?

(A) Maharashtra

(B) Karnataka

(C) Andhra Pradesh

(D) Uttar Pradesh

(E) West Bengal

34. To accommodate 277 plants of ‘Acid Lime’ in one hectare area, what should be the spacing

between two plants ?

(A) 5·5 m × 5·5 m

(B) 6·0 m × 6·0 m

(C) 6·5 m × 6·5 m

(D) 7·0 m × 7·0 m

(E) None of these

35. Which one of the following ‘Maize Hybrids’, you will suggest to the farmers of Punjab State for

growing in ‘Rabi season’ for Higher Yields ?

(A) Vivek Hybrid

(B) Vivek Hybrid 15

(C) Hybrid Sheetal

(D) Deccan 115

(E) Pratap Hybrid Makka 1

36. According to ‘National Sample Survey Organisation’ (NSSO 2006), which one of the following

Information Sources is most availed by the Indian farmers in getting farm information ?

(A) Radio/TV

(B) Fram Input Dealers

(C) Progressive Farmers

(D) Krishi Vigyan Kendras

(E) Agricultural University Specialist

37. More than 40 per cent of the 197 Private Sugar Mills in India are located in this State—

(A) Uttar Pradesh

(B) Tamilnadu

(C) Chhattisgarh

(D) Andhra Pradesh

(E) Karnataka

38. What is the subsidy component to the total loan amount/total investment available to SC, ST,

woman and other disadvantaged sections candidates under the scheme of ‘Establishing Agriclinic and

Agribusiness Centres’ by the Agri/Vet/Horticultural graduates ?

(A) 25 per cent

(B) 33·33 per cent

(C) 50 per cent

(D) 60 per cent

(E) 80 per cent

39. In which one of the following years, the NABARD was established in India—as an Apex Financial

Institution for Rural and Agricultural Development ?

(A) 1980

(B) 1981

(C) 1982

(D) 1983

(E) 1984

40. As per the RBI’s directives, Banks should not insist upon the margin/collateral security for the loans

to borrowers upto the limits of—

(A) Rs. 50,000

(B) Rs. 75,000

(C) Rs. 1,00,000

(D) Rs. 1,25,000

(E) Rs. 1,50,000

Answers :

1. (B) 2. (B) 3. (E) 4. (B) 5. (D) 6. (B) 7. (C) 8. (B) 9. (A) 10. (E)

11. (B) 12. (A) 13. (E) 14. (A) 15. (E) 16. (D) 17. (B) 18. (B) 19. (A) 20. (B)

21. (D) 22. (A) 23. (B) 24. (D) 25. (A) 26. (E) 27. (A) 28. (A) 29. (A) 30. (A)

31. (C) 32. (E) 33. (B) 34. (B) 35. (B) 36. (A) 37. (A) 38. (A) 39. (C) 40. (B)

